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Figure S2. Scatterplots of fuzzy model outputs (SIFfuzzy) and original SIFs (SIF760 and SIFes7)
were determined based on HyPlant airborne data. A & B — SIFfzy expressed by
JS(NDVI+EVI+PRI) under model C5; C & D - SIFfuzzy expressed by f(NDVI+EVI) under model
Cl; E & F - SIFtuzzy expressed by f(SR+EVI) under model C2. Standard deviations are

represented in error bars. The letter abbreviations correspond to the codes of vegetation groups

presented in Figure S2.

14

¥ =1L0841x + 0.0799
12 } 2=0.90
(B)
10 |
*
06 R
=
04 | A M
(711 p<0.001
02 53 SE=0093
Pearson's r =097
Wl SE = 0,305
0.0 45 1 1 | 1 RI\{T;E G-?UD
14 o0 02 04 06 08 10 12 14
¥ =0.8276x + 0.0585
12 2=0.85
10
D)
08
L
06
04
p<=0.00
02 | ¢ SE =0.083
V53 Pearson's r=092
EMSE =0.090
0.0
o0 02 04 06 0B 10 12 14
14
¥ = 0.966x - 0.067 EE G-ﬂngﬁ"
- 7= L =SS
12 R*=0.89 Pearson's p< 0.94
T RMSE =40.114
10 | ®
08 sk
Pyl /laF
0.6 .
==
04 REAF i -
s =
ot
02 s
00 ﬂq—d 1
00 02 04 06 08 10 12 14

SIF e (mW-misr* nm™)



